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(€) (B) (A) QUESTIONS
B=1LA=1|B=0LA=0|B=1usA=1 B=0sA=0 s o ar o L
"~ Anyofits Any of its Both ofiits Both ofiits }?L{n 0 o) J"f}“) A
inputsis 1" | inputsis'0’ | inputsare ‘" | inputs are 0’ The output of a NAND gate 1s 0" when
S ¢S S92 by et e Sl |
Calculating Gathering | Manipulating Arranging | Which of the following is not processing?
1/ ) le{LL/fdJ»-{.U).{!JUJLJf;'JJTJ:‘?..‘_(’ 3
16 g Jogti | SebndS ¥ o
One- , One-cighth One-quarter One-half The half-life of a certain 1sotope ?Jﬂ /l»’d’.{)’ﬂl
Sixt t
sixteenth is 1 day. What is the quantity of the isotope after 2 days? |
g, s e} " ’//,oy,ﬂd/»w,iduﬂfg,autds,yp #
Wavelength Amplitude Frequency Speed Which of the following characteristics Y&m}.’.‘)
of a wave is independent of the others? '
T T {L@ﬂzﬁfkﬂjl;d;/{}f”}(dwlfﬁﬁj'@();rﬁ 5
V2 T 7‘5 g 2 If the length of Simple Pendulum is doubled its time
period willbe. , .
Uz s L;Uuéaﬁdﬁ.ﬂ/ c_,://-/,:u"(lcd)g(/;_ 6
Bp=anub f~godn §3-90dB 82-90dB | T tevel ofnoisc recommended in T ie" v
mbst countries over an eight hour work day is usually |
sl Ay ks S te g AS VRTINS
Amplitude | Wavelength Period Frequency | The loudness of a Sound is most closely related to its.
J/’Z/H"U’A: Jf,u;fup,g J/)?_./w‘dJ' qu:’u‘}l V‘[—-WC{‘JKJ/-J.}/JJ{’{ 8
Uprightand | Upri ghtand | Inverted and Inverted and Which type of image is formed by a convex lens on a
virtual real virtual real Screen?
fe =/‘{L'5‘f);_’ -‘L&ﬂ}ﬁj()/}{;gf’é’{d:-_{)ﬁ}/?tkfg 9
f,=025cm| f,=05cm | fo = lcm ' ;
f, = fewem In compound microscope, eyepiece has focal length
il il | Lulniug | S o S pnd aeFy WA 0
ot | fepmtie | LA WG So? | Blectric field lines f@% ? -
aaS st 23St Never cross Always i 4 b ;é A g
Crosseach | Crosseach eachother | crosseach e R
other in the other in the other
region of region of
weak field strong field i
Bt pnd AL ire i £12V
60 W 30W 145W 48W What is the power rating of st smpn i 2.5 A & U
) a lamp connected to a 12 V Source when it carrics 2.5 A?
Snpe | Gnt s e Szy | asdese Luc;;c,u:/’bdn-f Tt BN 12
Willbe zero | Remain the Decreases Increases J/’;'-@-C‘d"é—;f/‘//";"—'?w’z’f
Same : If the current in a wire which is placed perpendicular
to a magnetic field increases the force on the wire.
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Answer briefly any Five parts from the followings. 5x2=10

Define refraction and differaction of Waves.

What is the wave form of electromagnetic waves?

Write any two factor affect the ability of a capacitor to store charge.

What are two hazards of static clectricity. Explain any one

What is meant by potential difference, write its unit.

Can current flow in a circuit without potential difference.

Answer briefly any Five parts from the followings.

5%2=10

What is the difference between Pitch and Quality of Sound

What is necessary condition for the Production of Sound?

What is meant by Reflection of Sound?

What is the difference between hardware and software.

Write the name of four parts of computer.

What is electronic mail Write its one advantage.

Define Nuclear fusion; write its eqn.

Write down the Two properties of Beta Particles.

Answer briefly any Five parts from the followings. ~ 5x2=10

Write two laws of refraction of light.

What is optical center? Show it by diagram.

Why pencil looks bend in a glass of water?

Explain OR operation with the help of truth table.
What is the role of deflecting plates in Cathode ray oscilloscope?

State Fleming's left hand rule.

What reverses the direction of electric current in the armature of D.C motor?

Define NOT gate and make symbol.

Note: Attempt any Two Questions.

Part — I

9%x2=18
L
Define specific resistance and Prove that R=p i

A Pendulum of length 0.99 m is taken to the moon by an astronaut. The Period

of Pendulum is 4.9 Sec. What is the vatue of ‘g’ on the surface of Moon?

What is Ultrasound? Write down any Three (3) its uses in detail.

Carbon-14 has a halflife of 5730 years. How iong will it take for the quantity of

Carbon~14 in a sample to drop to one-eight of the initial quantity?

Explain the working of DC motor
An object 10 cm high is placed at a distance of 20 cm from a concave

lens of focal length 15 cm. Calculate the position and size of the image
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(D) (©) (B) (A) QUESTIONS Q-1
vt el 2 GA | LI LR Pou = Pyt p 2 KT | 1
Mass Momentum Charge Energy In an ideal transformer Py, = Py, this is?c‘;Jva
according to Law of conservation of
LAl | bhkndl | edp Bl | el Pl b oSGl | 2
& = | Magnetic | Smallmass | The presence of'a magnetic field can be detected by a
Stationary Stationary
: i compass
negative Positive
Charge Charge
/|
N ——— —_ i ol . 3 ,
X=A+B| X=AB |X=4A+B | X=4B ‘  cebbeliedOR | 3
The Boolean expression for QR gate is
7 A ol LA gES P ST e S e S | 4
Computer Book Teacher Internet From which of the following we can get information
almost about everything
181 Comth P12 cold c‘_b‘{fqb‘*’léj_éuﬂéﬁcﬁ-{! Ur Sl Ct:ﬁu.iyﬂ T4 | 5
. : The radio isotopes used to diagnose the brain tumer
cthorn | atboyll | etlnfd L] b S u e bls A LbIAE C U LSt | 6
Increase by | Increaseby | Decrease by A radioactive nuclied decay by emitting a beta
2 1 1 Unchanged particle. The atomic number of the nuclied
- - . . . . v &, 5 P2
bl | dnfdw | e dnd T lbsy | Tet TS A s T B | 4
- x 7 ’“
Become " Remain Decreases Increases iy EAVZNAD
v In mass spriry :sytétﬁm, when mass m moves towards -
double safle mean position. The magfitudy offrgstoring force
N : K B o3 .
.2 4 K 24 «f SuilE s | 8
Thermal Mechanical Electrical Chemical Which form of energy is sound? :
3 . 2y Ly, eaflnde LS e dinSdtop | 9
i h Y
Amplitude Direction Frequency Wavelength Iigefraotion; The speed afwater wave chaniges C"d
due to change in
_ O/ Lufﬁ;i}m,bb'&?u KZ/%&I{"»JIPLGJ%I Cl 10
1x10°N | 1x10°N | 9x10°N | 9x 109N . S
The coulomb’ force between two point charges each
of magnitude 1 C separated by a distance of 3 m is
VB pEb AL sy L2V ]| |,
‘ ' o S25 A et
30w 145W 48W ‘ el PSS A e
oW What is'the Power rating of a lamp connected to a 12
volt source when it carries 2.5 A current
dy/ Lt F Fhs e kot it LS VPG| )
’ . . The resistance of a conductor increases with the
Length Area Diameter Radius Nictense ot
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5x2=10

Answer briefly any Five parts from the followings.
Write any two featurcs of SHM
Who invented the Pendulum Clock and when?
Define damped oscillations. Give its an example from daily life.
Draw the diagrame for three capacitors connected in series.
Write any two factors on which the capacitance of a capacitor depends
Define Electric field intensity and write down its formula.
Define Resistance and its ST unit.”
Define clectric power and write down its formula
Answer briefly any Five parts from the followings. ~ 5x2=10
On what factors does the soundness of sound depend?
Sound is a form of wave. List at least three reasons to suppott the
idea that sound is a wave?
What is difference between pitch and frequency?
Define Nuclear transmutation. -_:é_y/?d/u'?)ﬂ_f;l/bﬁ{,{ ~
Write down the two advantages of electronic mail.
What are browsers? Give their two examples.
What is difference between atomic number and atomic mass.
5%x2=10

Why is the driver’s side mirror in cars convex rather than plane or

Answer briefly any Five parts from the followings.

concave?

Define Power of a lens and its units?

Define the term resolving power and magnifying power.

Which device is used for converting electrical energy into
mechanical energy?

Why is the voltage used for the domestic supply much lower than the
voltage at which power is transmitted?

What do you know about flourescent Screen?
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Draw the truth table of AND gate -2 b ¥ #5.2(2d %1 (viii)  What is meant by ADC and DAC? Ses/ #{/= DACHADC

Parteee oo 11
Note: Attempt any Two Questions.
What is Joule’s law? And explain The energy dissipation in a resistance
b. The force of repulsion between two identical positive charges is 0.8N

when The charges are 0.1m apart. Find the value of each charge

Explain the importance of acoustic Protection in detail.
Ashes from a campfire deep in a cave Show Carbon-14

activity of only one-cight the activity of fresh wood. How long
ago was that Campfire made

A current- carrying coil in a magnetic ficld expericnces a torque. Explain it
An object and its image in a concave mirror are of the same
height, yet inverted when the object is 20 cm from the mirror.

What is the focal length of the mirror?
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